tHam—

H29.5. 26
- fHEEERT SAHIETY,

B, FEFELFETESNIBZEE, FTEBENES,
EEHEEIE I A% HAZ %
527H | £ | 1 421 fERRAME 1T (E#) []] W B 5/18 (R) A& S
5R27E | £ | | e e = Z%%%Qgigu
5R278 | * | 2 e e = :é%% o
5R278 | * | 3 Sey R e ] e EE = ;%%@gfigu
5278 | £ | 4 Sey R e ] e EE = Zé%’%ﬁ KatiEL<
58208 | A | 2 g1 (REMSOUR BER gt m—  |y200) s
5A318 | K [3-4 A FEV ZT B 5/10 OK) thE& 5>
5A31B | K | 5 522 TRHALET () [d] ik &= 6/13 () 1KZES
6R28 | £ | 2 | EXREZTE [FHRXEER AKX R Zﬁ%%?ﬁg*gigbr
6A28 | £ | 3 | EXREETE |BAXIKER AKX R Zﬁ%gg)%gfgibr
6A28 | & | 4 | HAWRE 33310 amc o |Ar B ;%%Z%Qiéu
6838 | £ | 1 522 TREALIE T (EHE) [f] BH &= [5/100K) KESH
6838 | £ | 2 522 TRHALE T (EH) [f] fH = |6/70K) KES
6858 | A | 2 g1 (BEMEOUR BER gt m— |20 ks
6878 | K | 5 522 BFHE T (8 [e] ik & 6/13 (R) tREE S
6H8A | K | 1 537 |@EREI (33) R OB [5/18(K) K%
6888 | K | 3 731 RBEREFAE AR HF  |4/20(K) KES
6R108 | * | 1 512 |#@asazr—savl U] N WE  [4/27 (R Hhilis
68108 | £ | 2 512 #FEIIa=H—varl ] (BN WE |4/21 (R KERD
6R138 | & [4-5| 431 g REE KB [6/6(0) Kis
613E | & | 5 | mamms |FORE1C/TOVIIb e o (UNERA .

M I

EfLES




HER (R | B H=E BB HEL "%
68148 | /K [3-4 851 T AR HREE KE 16/70K)IKEH
_ N AGEE T
68148 | K | 4 733 ¥ (8E%) (¥-2} INE EF GIE) #2#EELT
E LT,
68158 | K 1 742 LB R =2k {# 5/18 (K) IR &R
(6B AES
68178 | £ | — FHEE |ERFEMEED Fik WME i{gi_fs:.] =LY
S —— 6/1 () KeB 5
6ﬁ 175 j: 1 2924 ng%*ﬂinﬂﬁ I < =Nl ng%» %Eg ZF GEE) ?ﬁﬁ%;ﬁb'c
[a] EHELET
68178 | L 2 224 EFERMRD Bk T 6/16 (&) {KeE R
682480 | 1 712 LeBI = EE B [6/13(N)KES
682480 | 2 221 FEDLEFI E& B [6/130N)KES
R . R j N 6/13 (k) 1K ER
68248 | £ | 3 224 DB L /DEEHSR | FE RH GEB)] =2 FELT
EHLET,
68278 | X [4-5 431 MR REE KB [6/20 () KES
68288 | /K [3-4 851 HEAM mEE K= [6/21 OKk) tkiEH
. [/ D *Es
7818 | £ | — FHEE  |EEEMEEL FigE #BE é;%,—%f] S EBLAY
T/8F) - 7/29(%)
7828 | B | — HEE  |ERFEMEED FiE B1E |IKES 3] 24
Bl FEA
7A58 | XK 5 231 EF (BXREZFZX) [a) =k f# 6/12 (B) Ki&n
7H128 | XK 3 132 iyl =Pk =k 2 6/12 (B) ki n
78158 | £ | 3 741 %ﬁ:' Ra=7=Y3¥l g —g [6/200K) thigs
7158 | £ | 4 741 %p’;:' Sa=T=¥32 D g —k [6/20 (k) kS
: e |BRRURTEMES I N
7ﬁ 22H T |12 %i%&i [E:&*—I'] —* JEHH—J 6/1 (*) 1*n§73
128 | £ |3-4| sstm= g’gf‘&;ﬁ]” fTHiER =k @R [1/110K) s
78228 | £ | 1 mARET <k /£ I 5/18 (K) k&%
233 = O 2 X 28| GIB] =2 ERLT
—8A1H | X | -2 5 26%%}? - 5%/&’1@5,(%?*%/\
71H228 | = 2 : FH7
233 =% O 2 X 28| GIB] =2 EELT
—8H1H |-X| -3 5 26%%}? = S LET.
TR S, 234 IR 281 [5/18(K) K%

FHEXEAMEHFEY




